Ch Onpenenenue pacpeaeaInTeIbHOTO 3aKOHA mst:

Onpeaennre Kakoil BApUAHT HAWIYYIIUM 00pa30M OTPaKaeT pacnpeae/uTe/ I bHbIH 3aKO0H. OTBeThI
1) A.10x8=8x10 2) A2x1=2
B. 10 x (8 x 1)=(10x 8) x 1 B.2x1)x6=2x(lx6) L
C. 10 x (8 +1)= (10 x 8)+ (10 x 1) C.2xD+(2x6)=2x(1+6)
D.1x10=10 D.2x1=1x2 2.
3.
3) A.8x0=0x8 4) A.(9x10)+(9x3)=9x(10+3) 4,
B.(8x0)+(8x1)=8x(0+1) B. (9 x 10) x 3 =9 x (10 x 3)
C.(8x0)x1=8x(0x1) C.9x1=9 5.
D.8x1=8 D.9x10=10x9
6.
7.
5) A.1x0=0 6) A2x(5+6)=(2x5)+(2x6)
B.0x10=10x0 B.1x2=2 .
C.0x(10x3)=(0x10)x3 C.2x(5%x6)=(2x5)x6 '
D. 0 x (10 +3) = (0 x 10) + (0 x 3) D.2x5=5x2 .
10.
7 A0x1=0 8 A.9x0=0x9
B.0x5=5x0 B.1x9=9 i
C.0x5)x1=0x(5x%1) C.9x(0x4)=(9%x0)x4
D.(0x5)+(0x1)=0x(5+1) D.9x (0+4)=(9 x 0)+ (9 x 4) 12.
9) A.2x9+2x7)=2x((O9+7) 10) A.9x7=7x9
B.2x9=9x2 B. (9 x7)+(9x6)=9 x(7+6)
C.2x9)x7=2x%x(9x7) C.(9%x7)x6=9x(7x6)
D.2x1=2 D.9x1=9
11) A.8x1=8 12) A.4x8=8x4
B.(8x7)+ (8 x0)=8x (7+0) B.(4x8)x9=4x(8x09)
C.(8x7)x0=8x(7x0) C.(4x8)+(4x9)=4x(8+9)
D.8§x7=7x8 D.4x1=4
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ﬂh OHpe,Z[eJIeHI/Ie PacnnpCacianTCIIbHOI'O 3aKOHA Nwms: K104 K NpaBHJILHBIM 0TBETAM

Onpeaennre Kakoil BApUAHT HAWIYYIIUM 00pa30M OTPaKaeT pacnpeae/uTe/ I bHbIH 3aKO0H. OTBeThI
1) A.10x8=8x10 2) A2x1=2
B. 10 x (8 x 1)=(10x 8) x 1 B.2x1)x6=2x(lx6) R O
C. 10 x (8 +1)= (10 x 8)+ (10 x 1) C.2xD+(2x6)=2x(1+6)
D.1x10=10 D.2x1=1x2 2. C
. B
3) A.8x0=0x8 4) A.(9x10)+(9x3)=9x(10+3) s A
B.(8x0)+(8x1)=8x(0+1) B. (9 x 10) x 3 =9 x (10 x 3)
C.(8x0)x1=8x(0x1) C.9%x1=9 5. D
D.8x1=38 D.9x10=10x9
6. A
7 D
5) A.1x0=0 6) A2x(5+6)=(2x5)+(2x6)
B.0x10=10x0 B.1x2=2 . D
C.0x(10x3)=(0x10)x3 C.2x(5%x6)=(2x5)x6 '
D. 0 x (10 +3) = (0 x 10) + (0 x 3) D.2x5=5x%2 . A
10. B
7 A0x1=0 8 A.9x0=0x9 B
B.0x5=5x0 B.1x9=9 i
C.0x5)x1=0x(5x%1) C.9x(0x4)=(9%x0)x4 C
D.(0x5)+(0x1)=0x(5+1) D.9x (0+4)=(9 x 0)+ (9 x 4) 12.
9 A.2x9)+2x7)=2x(9+7) 10) A.9x7=7x9
B.2x9=9x2 B. (9 x7)+(9x6)=9 x(7+6)
C.2x9)x7=2x%x(9x7) C.(9%x7)x6=9x(7x6)
D.2x1=2 D.9x1=9
11) A.8x1=8 12) A.4x8=8x4
B.(8x7)+ (8 x0)=8x (7+0) B.(4x8)x9=4x(8x09)
C.(8x7)x0=8x(7x0) C.(4x8)+(4x9)=4x(8+9)
D.8§x7=7x8 D.4x1=4
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